REV-01 2023/06
MSM/35/40
M.Sc. MATHEMATICS SET
FOURTH SEMESTER
GENERAL MATHEMATICS 11 A
MSM - 406 MDC
|[USE OMR FOR OBJECTIVE PART]
Duration: 3 hrs. Full Marks: 70
[ Objective ]
Time: 30 min. Marks: 20
Choose the correct answer from the following: 1X20=20
1. what is the value of @ if sin0 =1
a. (4n + 1)% b. (4n — 1)%
2n+1 . d 2 1 &
c. (2n )2 3 (2n )2
2. what is the value of 8 if cos 8 = —1
a. 2n—-Dm b. 2n+ Dm
c. 2nm + Dn d. None of this
3. Find the domain of sin™1x
a. [-1, %] b. [0, 1]
c. [-1,0] d. [-1,1]
4 Find the range of cot ~'x
a. 10, —n[ b. 1=m, [
c. 10, [ d. None of this

5. Calculate the general values of the cot~lx

a. nt+x,0<x<m b. nt—x, 0<x<m
c. nmr¥x,0<x<m d. None of this
6. If sin?0 = sin’a then the value of @ is
a. nm+ a b. nm—a
C. nm + na d. nr+a
7. What is the value of 0 if tan @ =1
a. —nm b. T
c. nm d. None of this
8. Whatis the value of @ if tan0 = —1
a (4n—1) £ b. 4n - 1) L
i 2 ( 4
m d w
c. (4n+ 1)5 . (4n + 1)2
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10.

11.

12.

13.

14.

16.

It f(x)=x, f/(x)=2

1 " 1

A —= Y
Jx 24/x

1 4 1

c. =
2% . 2x

If f(x)=x+|x, f(-3)=2
a. | b. 6
c. 0 d. None of the above
What is the distance of the point (a,b) from the line x=0.
a. a b. h
c. ab d. None of the above

The product of two matrices A and B, AB exists

If the number of columns in A is equal  b.If the number of columns in B is equal

a. :
to the number of rows in B.

to the number of rows in A.

If the number of columns in A is not d. If the number of columns in B is not
" equal to the number of rows in B. equal to the number of rows in A.

Equation of X-axis is
a. _\‘:0 b. )):0
c. YV = ¢ (constant) dx=c

( constant)

Domain of —is
X
a. R—{~1} b. R
¢ R-{1} d. R {0}
15. In what ratio does the X-axis devide the line segment joining the point (2,-4) and (-34)

is

& 151 b.|:—]

o —1:=1 d.]:3
At what point the X- axis cuts the line X — y =4?

a. (0,4) b. (-4,0)

c. (0,-4) d. (4,0)
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- What is value of ISfH.\‘(f.\‘ =P

a. Sinx
c. —Sinx

18. 1

[§8]

h

Value of the Determinant | 4

s s x+5:.
20. The value of limy_.q ﬁ is

no=
oONIn

b. COSX
d. — COSX
b. 6
d. 0
b.0
d.2
b. =5
5 )
d. None of these
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[ Descrigtive]

Time : 2 hrs. 30 mins. Marks : 50

I. a. If A, B, and C are sets, then prove that analytically 5+5=10
A—(BNC)=(A-B)uU(4—-0C)

b. Provethati. (AUB)® = A° N B¢
ii. (AN B)° = A° U B°

2. If R and S be relation on a set A represented by the matrices My = = 24242+
01 0 01 0 2+2=10
1 1 1|land Mg =]0 1 1| then find matrices that
1 0 O 1 4 A
a. RUS
b. RnNnS
c. RoS
d. SeR
e. R®S
3. a. solve 2sinx+V3cosx+1=0 5+5=10
b. solve sin’x —cosx = 11
4. a. write the general value and principal values of cos“(—%) el
b. Evaluate 3sin™'x = sin™'(3x — 4x3)
5. Find the Domain of following function 5+5=10
(i). f(x) = J(x=3)(x-5)
o X
(i) f(x) = ———=

-

4 —x-
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6. Evaluate 5+5=10
lim l1-cosx

@ x>0 x° ‘

lim 1

b
4 X2 1ldx+1-+x-1

. That
sin@ cos@

cosf) —sinf
a. Given P{d)= Show

P(O)YP(¢) = P(O + ¢) Hence Deduce that {P(O)}" = P(n0)

b. What do you mean by Adjoint of the Matrix.

8. If the points (1.0).(0,)and (a,f)are collincar show that 7+3=10
a+ B=1.Also find the distance between the points (a.—b)and

(—a,b)

(5]

USTM/COE/R-01



